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NO. 0 (BC. 1) 0.00 3.8 0.0 0.0 3.0 0.0 0.0 0.0 0.0 0.0
NO. 0+5. 70 5.70 3.1 19.7 1.4 4.0 1.3 3.7 3.1 17.4 2.3 6.6 0.0 0.0 0.0 0.0 0.0 0.0 1.2 3.4
NO. 0+5. 70 0.00 3.6 19.1 2.7 11.7 1.0 6.6 3.1 17.7 2.3 13.1 0.0 0.0 1.1 3.1 0.0 0.0 1.2 6.8
NO. 0+10. 00 4.30 3.9 15.1 3.1 9.7 1.9 6.9 3.2 13.5 3.6 12.7 0.0 0.0 1.5 3.2 0.0 0.0 1.2 5.2
NO. 0+16. 40 6. 40 4.7 27.5 3.4 20.8 1.8 11.8 3.2 20.5 3.0 21.1 0.0 0.0 1.8 10.6 0.0 0.0 1.2 7.7
NO. 1 3.60 4.9 17.3 3.3 12.1 1.9 6.7 3.2 11.5 2.7 10.3 0.0 0.0 1.8 6.5 0.0 0.0 1.2 4.3
SP. 1 9.12 4.6 43.3 3.2 29.6 1.0 13.2 3.2 29.2 0.5 14.6 0.0 0.0 0.0 8.2 2.1 9.6 1.3 11.4
SP. 1 0.00 2.7 0.0 3.0 0.0 0.5 0.0 3.1 0.0 1.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0
NO. 2 10. 88 3.5 33.7 3.9 37.5 0.5 5.4 3.1 33.7 1.8 19.6 0.0 0.0 0.0 0.0 0.0 0.0 2.0 21.8
NO.2+10.00 | 10.00 4.1 38.0 6.4 51.5 1.0 7.5 3.2 31.5 3.7 27.5 0.0 0.0 0.0 0.0 0.0 0.0 2.4 22.0
EC. 1,BC. 2 8.24 3.9 33.0 6.4 52.7 0.8 7.4 3.0 25.5 3.7 30.5 0.0 0.0 0.0 0.0 0.0 0.0 2.4 19.8
EC. 1,BC. 2 0.00 3.4 0.0 0.3 0.0 0.1 0.0 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.0
NO. 3 1.76 3.5 6.1 0.3 0.5 0.1 0.2 3.2 5.6 0.1 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.9
NO.3+10.40 | 10.40 3.3 35.4 0.3 3.1 0.1 1.0 3.2 33.3 0.1 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 5.2
NO. 3+15. 90 5.50 3.8 19.5 0.4 1.9 0.1 0.6 3.2 17.6 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.5 2.8
SP.2 3.73 4.2 14.9 0.4 1.5 0.1 0.4 3.2 11.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 1.9
NO. 4 0.37 4.2 1.6 0.4 0.1 0.1 0.0 3.2 1.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.2
NO. 4+3. 00 3.00 5.5 14.6 0.3 1.1 0.1 0.3 3.2 9.6 0.0 0.0 0.0 0.0 0.0 0.0 0.1 0.2 0.5 1.5
NO. 5 17. 00 3.3 74.8 0.3 5.1 0.1 1.7 3.2 54.4 0.1 0.9 0.2 1.7 0.0 0.0 1.0 9.4 0.5 8.5

AN F 100. 00 413.6 242.9 73.4 334. 1 158.3 1.7 31.6 19.2 123.4
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NO. 0 (BC. 1) 0.00 | 0.075
NO. 0+5. 70 5.70 | 0.075 0.4
NO. 0+10. 00 4.30 | 0.075 0.3
NO. 0+16. 40 6.40 | 0.075 0.5
NO. 1 3.60 | 0.075 0.3
SP. 1 9.12 | 0.075 0.7
SP. 1 0.00 | 0.075 0.0
NO. 2 10.88 [ 0.075 0.8
NO.2+10.00| 10.00 | 0.075 0.8
EC. 1,BC. 2 8.24 | 0.075 0.6
EC. 1,BC. 2 0.00 | 0.075 0.0
NO. 3 1.76 | 0.075 0.1
NO.3+10.40| 10.40 | 0.075 0.8
NO. 3+15. 90 5.50 | 0.075 0.4
SP.2 3.73 ] 0.075 0.3
NO. 4 0.37 ] 0.075 0.0
NO. 4+3. 00 3.00 | 0.075 0.2
NO. 5 17.00 [ 0.075 1.3

AN F 100. 00 7.5
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SP. 1 9.12 .89 33.9 .89 33.9
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NO. 2+10. 00| 10. 00 .85 34.0 .85 34.0
EC.1,BC. 2 8.24 .00 27.1 .00 27.1
EC.1,BC. 2 0. 00 .00 25.0 .25 25.6
NO. 3 1.76 .00 25.0 .25 26. 3
NO. 3+10. 40| 10. 40 .00 25.0 .25 26. 3
NO.3+15.90|  5.50 .00 25.0 .25 26. 3
SP. 2 3.73 .00 25.0 .25 26. 3
NO. 4 0.37 .00 25.0 .25 26. 3
NO. 4+3. 00 3. 00 .00 25.0 .25 26. 3
NO. 5 17. 00 .00 25.0 .25 26. 3

& i 100. 00 444. 4 454. 1
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